_> #7‘1 +g+% = integer %+§+%+% +% +% =integerby H+ E :

> hic=0:h2c:=0:hc:=0:hls:= {}:h2s:= { }:Npc:=0:print() :prz'nt({A,B, C}
=[1,1000]) :for a from 1 to 250 do for b from a +1 to 2000 do for ¢ from b+ 1
£03000 dohc = het1:hl = 4+ 2 4 S m pie L @ L S ippehl,

b ¢ a a c¢ b
<
b

hls = h]sunion{(%)[o ]+(%)[O ]+(%)[O ]=h1}ﬁ:if type(h2, integer)

integer)and not type( % , integer) and not type( , integer) then hilc := hilc+1:

and not type( i, integer) and not type( ﬁ, integer) and not type( %, integer)
a a
b b

thenh20==h2c+1:h25==h25uni0n{(%)[o ]+(;)[o ]+(;)[o ]

+(%)[O ]+(%)[O ]+(%)[O ]=h2}ﬁ:NPC== nops(hls) +nops(h2s) :if NPC

> Npc then print(A=a, B=b, C=c) : print(nops(hls), nops(h2s), Tc = hc) for h
from 1 to nops(hls) do print(his[h]) :od:for & from 1 to nops(h2s) do print(h2s[h]) :
od: Npc := NPC fi :od:od:od:
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